


K.CS.E MARKING SCHEME 2006 PAPER 1211 M | 01125 =45
. SECTION 1 (50 marks) workmg must be shown
=3J675x135_ =675x135
1. 3 \/675 x135 = 3\/33x ¥x3 g5 =1 i ¥ 4? > 4153:25;45
3 =I3TKD T Al X=
V2025 V3% 325 2
2. a) 7532 B1
b) 500 B1
M1 factorjsatio
3. _(ptq)(ptq) = (prQ)ptq) =" ™1 Yi 1dactes ?%{r:‘on
p(p*- @)+ q(p>-) (Pre)(Pta)(p-9) M1 ?%B SR
Al |p- q ----------- ml
4.2) ZADE = 180108 =36° Bl
. 2 Bl .
b) JAEF = {1800 B (1080-60°}+2 Bl1 Mark the diagram
= 66° 3 480 -36°=12°
c) ZDAE = 108° - (60°+36")
=120
5.32x<X
3<€3% M1
1<x
x<2x+5 M1
Jx < 2%+3
3X-2XS‘5 orx< 5 A, can be implied in
l=x=<5 numberline graph
. ~ S ; .
1 2 3 4 5 6 Al
M1
6. (3>§+1)(3x-123 = zg L,(1-3)=28 .....m,
x2-X = M1
12-3L-28=0
(B3x+5)(x-2) = -
i e % / -4 =0\ M,
Length 3x 2 +1 Al
=7cm
7. 10500x9.74 L
=sh 1022700
1022700 - 403879 = 618821 M1
12.11 12.11
= 51000 rands
Al

L2€ QA87)
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L TN
: /)(\ "o Const%mnon marks
A ‘ f(‘)nstéu . fion of 135°
. 7 = T L J ) ction Lor
S ’ /‘/ l x’>"+, hel‘ﬁxt
AN o
. // )
8-k=_73
IE £ 3
p. k-8 =-3 k=Y, y-8=-3 Mi Bl Al
-k . x-'/ 6x+2y—19
5 33X+ = 93
10. 6log,’ V2¢ + 10log, *V 3* M1
=6log,2’ + 101og M1
=6x2+10x1
=12+10 Al
=22
11.x= 1.8 cos 63° Ml
=1.8x0454 M1
=0.8172 .
QS =3.6-2% 0.8172
=3.6-1.6344
=1.9656 Al
=1.966m
12. a) p(-2.3 P' 10.10) Mi
p(_ s oxX = 13
i 0 3 Ml sin63 sin
= (12 ) 58.5
7 Al .
Q'=(1+12,3+7) QX ='18sm_63
=(13,10) B1 sin 58.5
b) 2 QS = 1.8810 sin
m( ) n(3 ) ( M1 63° ,
2m-n=-12 sin 83.5"
3m-3n=9 =+ 1.966
m = n+3
2(n+3)tn =12 In=6 m=35 Al
o e § _
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p) /Cx./ tlemiyn
{ ‘. i

B

&y v el

. -
)’// '
/ B; 3. 7xd lon

14. 2p +3b = 78— )
3p+4b = 108~ (@)
8p+12b = 312
9p+12b = 324

p =12

b= 18

15. AreaA = 5x3.2
B=10x12
16:12 = £::6
12f=96
f=28

M1

Ml
Al

Ml

Ml

attempt ta eliminate one
unknown

forbothAorB

accept equivalent

AreaB=10x1.2 =12
12

el

16. x | 0 |04 108

1.6

y=V4-x|2.00] 1.96 1.831 1

1.20

b) Areaof'/ circle
Y (0.4)x (2+0)+2(1.96
£1.83+1.60-+1.20)
=3.036cm?
=Areaofacircle
=4x3.036
= 12.144cm?

Wl
L

Ml
Al

M1
Al

SECTION II1(50 marks)

17 a)24 0 x 12000
= sh 2 880 000
bi) Total sides
12 000 x 1.25 x 09x240
=sh 3 240 000
%ge increase
= 324000-2880000x 100 M1
2 880 000
= 1958
i) Newprice
=12000x 1.25x '/
=15000x 16/15
=shs 16 000

M1
Al

M1

Al

Bl

125%x09=1.125
1.125-1.50.125
0.125 x 100 ---- M1 M1
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) New number of sets number of sets be y
240(%8(())-21 Mi 10000y = 2 880 000
y=180
New amount
16000x240(100-n) Mi 24(;:0 0 x 100----M1 Mi
16000 X 40 (l -p) M1 100-px240 x 26000
100
= 25%--—-Al
Al
matrix not acceptable
18. a) Reflection on y axis (or line x = 0) B2
b) image of A P’Q’R” of APQR B2 t+ve three quarter ‘
¢) -ve quarter tura about (0,0) or about origin B2 twin about (0.0) or about origin
d) image of AP”" Q"R B2 .
€) Pair As of that are oppositely congruent san
B1 forany two pairs
APQR and AP.”Q”R” ACCepIP'Q'R’ = P-’RnQe-
AP’Q’R’ andAP™Q™R*”
APQR and AP’Q’R’
AP”Q”R”and AP”?Q’%!R"? BZ
19.a) Height = V32-] .82 =24 Mi
x-sectional area
=24 (2+5.6)
=9.12cm?
Volume =9.12 x 8 Mi
=72.96cm> Al
b) Mass mg M1
=72.96 x 5.75
=419.52 Al
L) v.s.f. = 246. 24 3.375
72.96
1sf=3v3375 L §
sasf=1:225 i)°, x 419.52¢ M1 i
Areaof x sofution 246.24cm2 "
=912x225 =4.259¢/cm3 Al !
=20.52cm? 10 Al
Vs oS80 —L_‘T\T,,]{a'i,axhq 199-.7006 290




M1

B1 forx =150 + 60t or

AB=\100°+57.742 =V13334 =1155

D0.a)Distance of bus from Nairobi
500 - 2.5 % 60 x =100t
=350km Al L
ii) Let distance be xkm B1 al“ Bus ¥, hor
for bus x = 150 +60t M1 Rt
for car x = 100t M1 P
- 100 t=150+60t Moo= 10t
t=%h 10x-6x = 5/2
=375KM Al 600
. 20x-12x= 3000
b) Yet to be covered B1 8x=3000
500 - 375 = 125km x=375km
time bus takes ThyB=",
= Bl ThyC=150+x
= 2h 15min or 125 minutes B1 100
New speed of car M1 g =
12_5 _1_2_5_ .—_:m 60 100
125-25 x 10 x=225
60 x = 75km/hr Al
: 10 N
br Distance from Nairobi TR
500 - 60 x 25 7
=350km Al : ; .
relative velocity 100 - 60 ek Ll
= 40km/hr B1 125/ =2h 5 min
. 60
time car takes to.reach bus M1
o =3%h If '/, , book fo PA
Distance covered , .
3%,x 100 =375km " Al 25/ . ACCEPLtO give
b) time taken by car for remaining 74.9%km
distance 25min
=2h Smin.
1hr 40 min B1
average speed M1
125
1?.’#‘
= 75km/hr Al
21. at)Len At
=% 00 tfrtlgo" M1 x tan 60° - 100
=100x 0.5774 AC -7 g ss
=57.74 Al a1
.,{‘ =LengthAD AC:imd/COSJSO
AC=N57.74+57.74 M1 0 op 10
=81.66 OR 81.65 e sme
AD?= 51.66+80° AB T =M 0
=2x8166x80COS 100° Al S e
= 6668 +6400 - 2x81.66x80 M1
x(-0.1736) Accept 57.73 of table .
AD =V15336 _ model
=123.8 Al
iii) perimeter -
AB+B+CC+CD+DA M1
M1
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Perimeter
=11.55+100+57.74+80+123.8

Al
=2"77"I78& f) 477.1 in case
o . :
b) Rolls of wire 123.84 isused
Length - 477.04 +57.74+81.66 M1
= 666.44
=616.4
Roestn bebonaht 6.3375if 4477.1
(6164-3x2.8)x5 Mi e
430
=6.333 e
=T7rolls . 10

22)0L _ 3(46)‘

3
18
pl _yz 15)

6

10

4
LN ON

— (l )( (18)

b)OM=0L+3/ LN

(3 () m
- (135) > (63)
(%)

= M(6,12) Al
¢)i OT="/,0M

()
"( 174' ) Bl
ij)LT= (‘7) ( i,) -

%)) ©)

Il

Q
Z
I

using ratio theorem

=292~






()

B1
LB —3LT
L. is common point
23. a)S t herght
=S 56
=>5cm 57.13
StificearcaC 150.816 ~
Conentx3x$s Bi accept 254.6 when =/
Cylinder=76x ti Lsf =lem:0.4m
Hemisphere = 2n x 3 x 3 M1 =m0, 16m2
Total surface area 254.5x0.16
= |§n+48n + 18% M1 40.72
=817 or 254.5cm? Al Conversion
b) 15cm: 600cm B1 40.74m?if 254.6 used
1:40
as.f.=40" Accept 1.5281if =%/,
= 1600 Bl
Areaof container b)
= 1600 x 254.5cm? M1
=1600 x 254.5 15/ '“Z/
10000 M1 x=12m
=40.72m?
Paint needed =Y
40.72 x 0.75 M1 |v=lem
20 )
=1.527 litres Cylinder
Total = =2%2 X1 2%32=2412
2413 +9.05+2.54m1 Cone
=40.73m2 =2/ x1.2x2=7.54
Paint needed H g
=40.73 x.0.75mi Al =2x%/x1.2=9.05
20
=1.527
4. 2)S=5'-5x52+3x5+4 MI
= {9m Al
b) V=%/=30- 10t + 3 M1
.)X5 “10x5x3 M1
=2.5m/s Al
) Substitution
ic) Momentarify at rest v=0
3-10t+3=0 Ml Differenciation
(3t-1)(t-3)= 0 M1
t=tyor =3 Al Substitution
d) Accelelation whent=2
a=%/ Mi
= 6t-10
6x2-10
=2m/s? Al
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